



Some properties of Bernoulli polynomials and their generalizations

Da-Qian Lu

East China Normal University, Department of Mathematics, Shanghai 200241, PR China

ARTICLE INFO

Article history:

Received 18 July 2010

Accepted 21 December 2010

Keywords:

Quasi-monomial

Generating functions

Recursion formulas

Connection problems

Bernoulli polynomials and numbers

Apostol–Bernoulli polynomials and

numbers

ABSTRACT

In this work, we investigate some well-known and new properties of the Bernoulli polynomials and their generalizations by using quasi-monomial, lowering operator and operational methods. Some of these general results can indeed be suitably specialized in order to deduce the corresponding properties and relationships involving the (generalized) Bernoulli polynomials.

© 2010 Elsevier Ltd. All rights reserved.

1. Introduction

A polynomial $p_n(x)$ ($n \in \mathbb{N}$, $x \in \mathbb{C}$) is said to be a quasi-monomial [1] whenever two operators \hat{M} , \hat{P} , called the multiplicative and derivative (or lowering) operators respectively, can be defined in such a way that

$$\hat{P}p_n(x) = np_{n-1}(x), \quad (1.1)$$

$$\hat{M}p_n(x) = p_{n+1}(x), \quad (1.2)$$

which can be combined to get the identity

$$\hat{M}\hat{P}p_n(x) = np_n(x). \quad (1.3)$$

The classical Bernoulli polynomials $B_n(x)$ are defined by [2]

$$\frac{ze^{xz}}{e^z - 1} = \sum_{n=0}^{\infty} B_n(x) \frac{z^n}{n!} \quad (|z| < 2\pi), \quad (1.4)$$

and, consequently, the classical Bernoulli numbers $B_n := B_n(0)$ can be obtained by using the generating function

$$\frac{z}{e^z - 1} = \sum_{n=0}^{\infty} B_n \frac{z^n}{n!}. \quad (1.5)$$

Moreover, we have [3]

$$B_n(0) = (-1)^n B_n(1) = \frac{1}{2^{1-n} - 1} B_n\left(\frac{1}{2}\right) \quad (n \in \mathbb{N}_0). \quad (1.6)$$

E-mail address: daqianlu@163.com.

The generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ are defined by [4]

$$\left(\frac{z}{e^z - 1}\right)^\alpha e^{xz} = \sum_{n=0}^\infty B_n^{(\alpha)}(x) \frac{z^n}{n!} \quad (|z| < 2\pi). \tag{1.7}$$

Clearly, the generalized Bernoulli numbers $B_n^{(\alpha)}$ are given by

$$B_n^{(\alpha)} := B_n^{(\alpha)}(0)$$

and

$$B_n(x) := B_n^{(1)}(x) \quad (n \in \mathbb{N}_0).$$

In 2005, Luo defined the Apostol–Bernoulli numbers $\mathcal{B}_n(\lambda)$ and polynomials $\mathcal{B}_n(x; \lambda)$ as

$$\frac{z}{\lambda e^z - 1} = \sum_{n=0}^\infty \mathcal{B}_n(\lambda) \frac{z^n}{n!}, \tag{1.8}$$

$$\frac{z e^{xz}}{\lambda e^z - 1} = \sum_{n=0}^\infty \mathcal{B}_n(x; \lambda) \frac{z^n}{n!}, \tag{1.9}$$

($|z| < 2\pi$ when $\lambda = 1$; $|z| < |\log \lambda|$ when $\lambda \neq 1$).

The generalized Apostol–Bernoulli numbers $\mathcal{B}_n^{(\alpha)}(\lambda)$ and polynomials $\mathcal{B}_n^{(\alpha)}(x; \lambda)$ are defined by [5]

$$\left(\frac{z}{\lambda e^z - 1}\right)^\alpha = \sum_{n=0}^\infty \mathcal{B}_n^{(\alpha)}(\lambda) \frac{z^n}{n!}, \tag{1.10}$$

$$\left(\frac{z}{\lambda e^z - 1}\right)^\alpha e^{xz} = \sum_{n=0}^\infty \mathcal{B}_n^{(\alpha)}(x; \lambda) \frac{z^n}{n!}, \tag{1.11}$$

($|z| < 2\pi$ when $\lambda = 1$; $|z| < |\log \lambda|$ when $\lambda \neq 1$).

Clearly, we have

$$B_n^{(\alpha)}(x) = \mathcal{B}_n^{(\alpha)}(x; 1) \quad \text{and} \quad \mathcal{B}_n^{(\alpha)}(\lambda) := \mathcal{E}_n^{(\alpha)}(0; \lambda), \tag{1.12}$$

$$\mathcal{B}_n(x; \lambda) := \mathcal{B}_n^{(1)}(x; \lambda) \quad \text{and} \quad \mathcal{B}_n(\lambda) := \mathcal{B}_n^{(1)}(\lambda). \tag{1.13}$$

The Appell polynomials [6] can be defined by considering the following generating function:

$$A(t)e^{xt} = \sum_{n=0}^\infty \frac{R_n(x)}{n!} t^n, \tag{1.14}$$

where

$$A(t) = \sum_{k=0}^\infty \frac{R_k}{k!} t^k, \quad (A(0) \neq 0) \tag{1.15}$$

is an analytic function at $t = 0$.

It is easy to see that if $A(t) = \left(\frac{t}{\lambda e^t - 1}\right)^\alpha$, then $R_n(t) = \mathcal{B}_n^{(\alpha)}(x)$.

From [7], we know that the multiplicative and derivative operators of $R_n(x)$ are

$$\hat{M} = (x + \alpha_0) + \sum_{k=0}^{n-1} \frac{\alpha_{n-k}}{(n-k)!} D_x^{n-k}, \tag{1.16}$$

$$\hat{P} = D_x, \tag{1.17}$$

where

$$\frac{A'(t)}{A(t)} = \sum_{n=0}^\infty \alpha_n \frac{t^n}{n!}. \tag{1.18}$$

By using (1.3), we have the following lemma.

Lemma 1.1 ([7]). The Appell polynomials $R_n(x)$ defined by (1.14) satisfy the differential equation

$$\frac{\alpha_{n-1}}{(n-1)!}y^{(n)} + \frac{\alpha_{n-2}}{(n-2)!}y^{(n-1)} + \cdots + \frac{\alpha_1}{1!}y'' + (x + \alpha_0)y' - ny = 0, \quad (1.19)$$

where the numerical coefficients α_k , $k = 1, 2, \dots, n-1$, are defined in (1.19), and are linked to the values R_k by the following relations:

$$R_{k+1} = \sum_{h=0}^k \binom{k}{h} R_h \alpha_{k-h}.$$

Let \mathcal{P} be the vector space of polynomials with coefficients in \mathbb{C} , and the polynomial sequence $\{P_n\}_{n \geq 0}$ be a polynomial set. $\{P_n\}_{n \geq 0}$ is called a σ -Appell polynomial set of the transfer power series A generated by

$$G(x, t) = A(t)G_0(x, t) = \sum_{n=0}^{\infty} \frac{P_n(x)}{n!} t^n, \quad (1.20)$$

where $G_0(x, t)$ is a solution of the system

$$\begin{aligned} \sigma G_0(x, t) &= tG_0(x, t), \\ G_0(x, 0) &= 1. \end{aligned}$$

In [8], the authors investigated the coefficients of connection between two polynomials. And there is a result concerning coefficients of connection between two σ -Appell polynomial sets.

Lemma 1.2 ([8]). Let $\sigma \in \Lambda^{(-1)}$. Let $\{P_n\}_{n \geq 0}$ and $\{Q_n\}_{n \geq 0}$ be two σ -Appell polynomial sets of transfer power series A_1 and A_2 , respectively. Then

$$Q_n(x) = \sum_{m=0}^n \frac{n!}{m!} \alpha_{n-m} P_m(x), \quad (1.21)$$

where

$$\frac{A_2(t)}{A_1(t)} = \sum_{k=0}^{\infty} \alpha_k t^k.$$

Recently, several interesting properties and relationships involving the classical as well as the generalized Bernoulli polynomials and the Apostol–Bernoulli polynomials were investigated [3,9,5,10–15]. In this work, we want to investigate some well-known and new properties of these polynomials from different angles.

In Section 2, we propose to prove some relationships and differential equations involving the generalized Bernoulli polynomials.

In Section 3, we want to consider the problem of connection of the generalized Apostol–Bernoulli polynomials with some other polynomials.

In Section 4, we shall extend the generalized Apostol–Bernoulli polynomials to Hermite-based generalized Apostol–Bernoulli polynomials by an operational method. And some of their properties are given.

2. Recursion formulas and differential equations

From Section 1, we know that the generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ are Appell polynomials with $A(t) = \left(\frac{t}{\lambda e^t - 1}\right)^\alpha$. And by using (1.4), we obtain

$$\frac{A'(t)}{A(t)} = -\alpha \sum_{n=0}^{\infty} \frac{B_{n+1}(1)}{n+1} \frac{t^n}{n!}.$$

By using (1.16)–(1.18), we can obtain the multiplicative and derivative operators of the generalized Bernoulli polynomials:

$$\hat{M} = \left(x - \frac{1}{2}\alpha\right) - \alpha \sum_{k=0}^{n-1} \frac{B_{n-k+1}(1)}{(n-k+1)!} D_x^{n-k}, \quad \hat{P} = D_x. \quad (2.1)$$

From the generating function (1.8), we can easily obtain

$$\frac{\partial^p}{\partial x^p} B_n^{(\alpha)}(x) = \frac{n!}{(n-p)!} B_{n-p}^{(\alpha)}(x). \quad (2.2)$$

By using (1.2), (2.1) and (2.2), we obtain the following result.

Theorem 2.1. For any integral $n \geq 1$, the following linear recurrence relation for the generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ holds true:

$$B_{n+1}^{(\alpha)}(x) = \left(x - \frac{1}{2}\alpha\right) B_n^{(\alpha)}(x) - \alpha \sum_{k=0}^{n-1} \binom{n}{k} \frac{B_{n-k+1}(1)}{n-k+1} B_k^{(\alpha)}(x). \tag{2.3}$$

Furthermore, applying Lemma 1.1 to $B_n^{(\alpha)}(x)$, we obtain

Theorem 2.2. The generalized Bernoulli polynomials $B_n^{(\alpha)}(x)$ satisfy the differential equation

$$\frac{B_n(1)}{(n)!} y^{(n)} + \frac{B_{n-1}(1)}{(n-1)!} y^{(n-1)} + \dots + \frac{B_2(1)}{2!} y'' - \left(\frac{x}{\alpha} - \frac{1}{2}\right) y' + \frac{n}{\alpha} y = 0. \tag{2.4}$$

In the special case of (2.3) and (2.4) when $\alpha = 1$, we obtain the following results.

Corollary 2.1. For any integral $n \geq 1$, the following linear recurrence relation for the Bernoulli polynomials $B_n(x)$ holds true:

$$B_{n+1}(x) = \left(x - \frac{1}{2}\right) B_n(x) - \sum_{k=0}^{n-1} \binom{n}{k} \frac{B_{n-k+1}(1)}{n-k+1} B_k(x). \tag{2.5}$$

Corollary 2.2. The Bernoulli polynomials $B_n(x)$ satisfy the differential equation

$$\frac{B_n(1)}{(n)!} y^{(n)} + \frac{B_{n-1}(1)}{(n-1)!} y^{(n-1)} + \dots + \frac{B_2(1)}{2!} y'' - \left(x - \frac{1}{2}\right) y' + ny = 0. \tag{2.6}$$

3. Connection problems

From the generating function (1.11), we can easily obtain

$$\frac{\partial}{\partial x} \mathcal{B}_n^{(\alpha)}(x; \lambda) = n \mathcal{B}_{n-1}^{(\alpha)}(x; \lambda).$$

So by the definition of the σ -Appell polynomial (1.20), we know that the generalized Apostol–Bernoulli polynomials are a D -Appell polynomial set, D being the derivative operator.

From Table 1 in [8], we know that the lowering operators of monomials x^n and the Gould–Hopper polynomials [16] $g_n^m(x, h)$ are all D . And their transfer power series $A(t)$ are 1 and e^{ht^m} respectively.

Applying Lemma 1.2 to $P_n(x) = x^n$, $Q_n(x) = \mathcal{B}_n^{(\alpha)}(x; \lambda)$, we get the well-known identity [5]

$$\mathcal{B}_n^{(\alpha)}(x; \lambda) = \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m}^{(\alpha)}(\lambda) x^m. \tag{3.1}$$

Applying Lemma 1.2 to $P_n(x) = \mathcal{B}_n(x; \lambda)$, $Q_n(x) = \mathcal{B}_n^{(\alpha)}(x; \lambda)$, we get the well-known identity [5]

$$\mathcal{B}_n^{(\alpha)}(x; \lambda) = \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m}^{(\alpha-1)}(\lambda) \mathcal{B}_m(x; \lambda). \tag{3.2}$$

Applying Lemma 1.2 to $P_n(x) = g_n^m(x, h)$, $Q_n(x) = \mathcal{B}_n^{(\alpha)}(x; \lambda)$, we get a new identity:

$$\mathcal{B}_n^{(\alpha)}(x; \lambda) = \sum_{r=0}^n \frac{n!}{r!} \left[\sum_{k=0}^{\lfloor \frac{n-r}{m} \rfloor} (-1)^k \frac{h^k}{k!(n-r-mk)!} \mathcal{B}_{n-r-mk}^{(\alpha)}(\lambda) \right] g_r^m(x, h). \tag{3.3}$$

In particular, for Hermite polynomials, since $H_n(x) = g_n^2(2x, -1)$, we have

$$\mathcal{B}_n^{(\alpha)}(2x; \lambda) = \sum_{r=0}^n \frac{n!}{r!} \left[\sum_{k=0}^{\lfloor \frac{n-r}{2} \rfloor} \frac{1}{k!(n-r-2k)!} \mathcal{B}_{n-r-2k}^{(\alpha)}(\lambda) \right] H_r(x). \tag{3.4}$$

In the special case of (3.1) when $\alpha = 1$ and $\lambda = 1$, we have

$$B_n(x) = \sum_{m=0}^n \binom{n}{m} B_{n-m} x^m. \tag{3.5}$$

And if we apply Lemma 1.2 to $P_n(x) = B_n(x)$, $Q_n(x) = x^n$, we can obtain the following familiar expansion [4]:

$$x^n = \frac{1}{n+1} \sum_{m=0}^n \binom{n+1}{m} B_m(x). \tag{3.6}$$

4. Hermite-based generalized Apostol–Bernoulli polynomials

The two-variable Hermite–Kampé de Fériet polynomials (2VHKdFP) $H_n(x, y)$ are defined by the series [17]

$$H_n(x, y) = n! \sum_{r=0}^{\lfloor n/2 \rfloor} \frac{x^{n-2r} y^r}{r!(n-2r)!} \quad (4.1)$$

with the following generating function:

$$\exp(xt + yt^2) = \sum_{n=0}^{\infty} \frac{t^n}{n!} H_n(x, y). \quad (4.2)$$

And the 2VHKdFP $H_n(x, y)$ are also defined through the operational identity

$$\exp\left(y \frac{\partial^2}{\partial x^2}\right) \{x^n\} = H_n(x, y). \quad (4.3)$$

Acting with the operator $\exp\left(y \frac{\partial^2}{\partial x^2}\right)$ on (1.11), and by the identity [18]

$$\exp\left(y \frac{\partial^2}{\partial x^2}\right) \{\exp(-ax^2 + bx)\} = \frac{1}{\sqrt{1+4ay}} \exp\left(-\frac{ax^2 - bx - b^2y}{1+4ay}\right), \quad (4.4)$$

we define the Hermite-based generalized Apostol–Bernoulli polynomials ${}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda)$ through the generating function

$$\left(\frac{z}{\lambda e^z - 1}\right)^\alpha e^{xz + yz^2} = \sum_{n=0}^{\infty} {}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda) \frac{z^n}{n!}. \quad (4.5)$$

Clearly, we have

$${}_H\mathcal{B}_n(x, y, \lambda) := {}_H\mathcal{B}_n^{(1)}(x, y, \lambda), \quad {}_H\mathcal{B}_n(x, y) = {}_H\mathcal{B}_n^{(1)}(x, y, 1).$$

From the generating function (4.5), we easily obtain

$$\frac{\partial}{\partial x} {}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda) = n {}_H\mathcal{B}_{n-1}^{(\alpha)}(x, y; \lambda) \quad (4.6)$$

and

$$\frac{\partial}{\partial y} {}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda) = n(n-1) {}_H\mathcal{B}_{n-2}^{(\alpha)}(x, y; \lambda), \quad (4.7)$$

which can be combined to get the identity

$$\frac{\partial^2}{\partial x^2} {}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda) = \frac{\partial}{\partial y} {}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda). \quad (4.8)$$

Acting with the operator $\exp\left(y \frac{\partial^2}{\partial x^2}\right)$ on both sides of (3.1), (3.2) and (3.6), and by using (4.3), we obtain

$${}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda) = \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m}^{(\alpha)}(\lambda) H_m(x, y), \quad (4.9)$$

$${}_H\mathcal{B}_n^{(\alpha)}(x, y; \lambda) = \sum_{m=0}^n \binom{n}{m} \mathcal{B}_{n-m}^{(\alpha-1)}(\lambda) {}_H\mathcal{B}_m(x, y, \lambda), \quad (4.10)$$

$$H_n(x, y) = \frac{1}{n+1} \sum_{m=0}^n \binom{n+1}{m} {}_H\mathcal{B}_m(x, y). \quad (4.11)$$

Acknowledgements

The author would like to thank the referees and editors for their many valuable comments and suggestions. This work was supported by the Shanghai Natural Science Foundation, grant number 10ZR1409100.

References

- [1] G. Dattoli, H.M. Srivastava, K. Zhukovsky, Orthogonality properties of the Hermite and related polynomials, *J. Comput. Math.* 182 (2005) 165–172.
- [2] M. Abramowitz, I.A. Stegun (Eds.), *Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables*, 4th Printing, in: Applied Mathematics Series, vol. 55, National Bureau of Standards, Washington, 1965.

- [3] F. Costabile, F. Dell'accio, M.I. Gualtieri, A new approach to Bernoulli polynomials, *Rend. Mat. Appl. Ser. VII* 26 (2006) 1–12.
- [4] W. Magnus, F. Oberhettinger, R.P. Soni, *Formulas and Theorems for the Special Functions of Mathematical Physics*, third enlarged ed., Springer-Verlag, New York, 1966.
- [5] Q.-M. Luo, H.M. Srivastava, Some generalizations of the Apostol–Bernoulli and Apostol–Euler polynomials, *J. Math. Anal. Appl.* 308 (2005) 290–302.
- [6] P. Appell, Sur une classe de polynômes, *Ann. Sci. Éc. Norm. Supér.* 9 (1880) 119–144.
- [7] M.X. He, P.E. Ricci, Differential equation of Appell polynomials via the factorization method, *J. Comput. Appl. Math.* 139 (2002) 231–237.
- [8] Y. Ben Cheikh, H. Chaggara, Connection problems via lowering operators, *J. Comput. Appl. Math.* 178 (2005) 45–61.
- [9] M. Garg, K. Jain, H.M. Srivastava, Some relationships between the generalized Apostol–Bernoulli polynomials and Hurwitz–Lerch zeta functions, *Integral Transforms Spec. Funct.* 17 (2006) 803–815.
- [10] Q.-M. Luo, H.M. Srivastava, Some relationships between the Apostol–Bernoulli and Apostol–Euler polynomials, *Comput. Math. Appl.* 51 (2006) 631–642.
- [11] Q.-M. Luo, The multiplication formulas for the Apostol–Bernoulli and Apostol–Euler polynomials of higher order, *Integral Transforms Spec. Funct.* 20 (2009) 377–391.
- [12] H. Ozden, Y. Simsek, H.M. Srivastava, A unified presentation of the generating functions of the generalized Bernoulli, Euler and Genocchi polynomials, *Comput. Math. Appl.* 60 (2010) 2779–2787.
- [13] H.M. Srivastava, Á. Pintér, Remarks on some relationships between the Bernoulli and Euler polynomials, *Appl. Math. Lett.* 17 (4) (2004) 375–380.
- [14] H.M. Srivastava, Some formulas for the Bernoulli and Euler polynomials at rational arguments, *Math. Proc. Cambridge Philos. Soc.* 129 (2000) 77–84.
- [15] H.J.H. Tuenter, The Frobenius problem, sums of powers of integers, and recurrences for the Bernoulli numbers, *J. Number Theory* 117 (2) (2006) 376–386.
- [16] H.W. Gould, A.T. Hopper, Operational formulas connected with two generalizations of Hermite polynomials, *Duke Math. J.* 29 (1962) 51–63.
- [17] P. Appell, J. Kampé de Fériet, *Fonctions Hypergéométriques et Hypersphériques: Polynômes d'Hermite*, Gauthier-Villars, Paris, 1926.
- [18] G. Dattoli, S. Khan, P.E. Ricci, On Crofton–Glaisher type relations and derivation of generating functions for Hermite polynomials including the multi-index case, *Integral Transforms Spec. Funct.* 19 (2008) 1–9.